

Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

	Line No / Item ID Item Description		(1) ANKA PAIN	ITING CO INC	(2) ALLIED PAINTING INC		(3) .JUPITER PAINTING CONTRAC. CO. INC,	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway				Cat Al	t Set:	Cat A	It Member:	
0001	153003P	(1)	1,196.00000	1,196.00	3,427.00000	3,427.00	5,713.00000	5,713.00
PROGRE	SS SCHEDULE	LS						
0002	151006M	1.000	30,000.00000	30,000.00	40,000.00000	40,000.00	20,000.00000	20,000.00
PERFOR PAYMEN	MANCE BOND AND IT BOND	DOLL						
0003	154003P	(1)	334,000.00000	334,000.00	450,000.00000	450,000.00	295,704.25000	295,704.25
MOBILIZ	ATION	LS						
0004	159003M	50.000	1.00000	50.00	100.00000	5,000.00	100.00000	5,000.00
BREAKA	WAY BARRICADE	U						
0005	159009M	100.000	1.00000	100.00	0.10000	10.00	10.00000	1,000.00
TRAFFIC	CONE	U						



Contract ID: 12433 Counties: MONMOUTH, OCEAN

**Letting Date:** March 28, 2013 **District(s):** H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

	Line No / Item ID Item Description		(1) ANKA PAIN	ITING CO INC	(2) ALLIED PAINTING INC		(3) .JUPITER PAINTING CONTRAC. CO. INC,	
Alt Set	/ Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway				Cat Al	t Set:	Cat A	It Member:	
0006 DRUM	159006M	100.000 U	1.00000	100.00	75.00000	7,500.00	100.00000	10,000.00
0007 FLOODLI	MMB085M GHTS FOR NIGHTTIMI	4.000 E U	1.00000	4.00	1.00000	4.00	1,000.00000	4,000.00
OPERATI								
0008 CONSTR	159012M UCTION SIGNS	1,000.000 SF	10.00000	10,000.00	0.01000	10.00	20.00000	20,000.00
0009	159029M	2.000	500.00000	1,000.00	500.00000	1,000.00	33,000.00000	66,000.00
PORTABI SIGN W/F COMMUN	-	GE U						
0010	159027M	2.000	5,000.00000	10,000.00	10,000.00000	20,000.00	2,000.00000	4,000.00
FLASHIN	G ARROW BOARD, 4'	X 8' U						



Contract ID: 12433 Counties: MONMOUTH, OCEAN

**Letting Date:** March 28, 2013 **District(s):** H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

	lo / Item ID Description		(1) ANKA PAIN	ITING CO INC	(2) ALLIED PA	AINTING INC	(3) .JUPITER PAINTING CONTRAC. CO. INC,	
Alt Se	Alt Set / Alt Member Quantity and Units			Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway				Cat Al	Cat Alt Set: Cat Alt Member:			
0011	159108M	2.000	11,500.00000	23,000.00	25,000.00000	50,000.00	5,000.00000	10,000.00
_	C CONTROL TRUCK ED CRASH CUSHION	_						
0012	554012P	(1)	10,000.00000	10,000.00	10,000.00000	10,000.00	10,000.00000	10,000.00
TESTING DIRECTI	G, IF AND WHERE ED	LS						
0013	MMB130M	(1)	5,000.00000	5,000.00	50,000.00000	50,000.00	27,000.00000	27,000.00
QUALITY (QMS)	Y MANAGEMENT SY	STEM LS						
0014	152004P	1.000	5,000.00000	5,000.00	5,000.00000	5,000.00	6,700.00000	6,700.00
-	'S AND CONTRACTO CTIVE LIABILITY NCE	DR'S DOLL						



Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

Line No / Item ID Item Description		(1) ANKA PAIN	ITING CO INC	(2) ALLIED PAINTING INC		(3) .JUPITER PAINTING CONTRAC. CO. INC,	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt Set: Cat Alt Member:				
0015 152015P	1.000	7,500.00000	7,500.00	5,000.00000	5,000.00	25,000.00000	25,000.00
POLLUTION LIABILITY INS	URANCE DOLL						
Section Totals:			\$436,950.00		\$646,951.00		\$510,117.25



Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

		maintenance Briage						
Line No			(1) ANKA PAIN	ITING CO INC	(2) ALLIED PAINTING INC		(3) .JUPITER PAINTING CONTRAC. CO. INC,	
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Construction			ngineering	Cat Alt	Set:	Cat A	It Member:	
0016	155009M	1.000	35,000.00000	35,000.00	25,000.00000	25,000.00	800.0000	800.00
FIELD OFF	FICE TYPE C SET U	JP U						
0017	155027M	24.000	250.00000	6,000.00	1,500.00000	36,000.00	1,500.00000	36,000.00
FIELD OFF MAINTENA	FICE TYPE C ANCE	MO						
Section	Totals:			\$41,000.00		\$61,000.00		\$36,800.00



Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

	lo / Item ID Description		(1) ANKA PAIN	ITING CO INC	(2) ALLIED PAINTING INC		(3) .JUPITER PAINTING CONTRAC. CO. INC,	
Alt Se	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Bridge			Cat Al	t Set:	Cat A	It Member:		
0018	MMB187M	1.000	275,000.00000	275,000.00	325,000.00000	325,000.00	409,533.80000	409,533.80
-	SURFACE PREPARA ATING STRUCTURI 9	-						
0019	MMB187M	1.000	270,000.00000	270,000.00	300,000.00000	300,000.00	310,991.01000	310,991.01
	SURFACE PREPARA ATING STRUCTURE )							
0020	MMB187M	1.000	240,000.00000	240,000.00	310,000.00000	310,000.00	380,745.00000	380,745.00
	SURFACE PREPARA ATING STRUCTURI 1	_						
0021	MMB187M	1.000	220,000.00000	220,000.00	235,000.00000	235,000.00	315,162.12000	315,162.12
_	SURFACE PREPARA ATING STRUCTURE )	-						



Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

	Line No / Item ID Item Description		(1) ANKA PAIN	ITING CO INC	(2) ALLIED PAINTING INC		(3) .JUPITER PAINTING CONTRAC. CO. INC,	
Alt Set / A	Alt Member (	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0003	Bridge		Cat Al	t Set:	Cat A	It Member:	
0022 M	MB187M	1.000	220,000.00000	220,000.00	235,000.00000	235,000.00	315,162.12000	315,162.12
	FACE PREPARATI NG STRUCTURE I							
0023 M	MB187M	1.000	130,000.00000	130,000.00	90,000.00000	90,000.00	48,609.00000	48,609.00
	FACE PREPARATI NG STRUCTURE I	-						
0024 M	MB187M	1.000	320,000.00000	320,000.00	350,000.00000	350,000.00	379,728.30000	379,728.30
	FACE PREPARATI NG STRUCTURE I							
0025 M	MB187M	1.000	320,000.00000	320,000.00	350,000.00000	350,000.00	379,728.30000	379,728.30
	FACE PREPARATI NG STRUCTURE I	-						



Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

	o / Item ID escription		(1) ANKA PAIN	ITING CO INC	(2) ALLIED PAINTING INC		(3) .JUPITER PAINTING CONTRAC. CO. INC,	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Bridge			Cat Al	t Set:	Cat A	It Member:		
0026	MMB187M	1.000	130,000.00000	130,000.00	150,000.00000	150,000.00	126,004.77000	126,004.77
	SURFACE PREPARA ATING STRUCTUR 2							
0027	MMB187M	1.000	230,000.00000	230,000.00	1,030,000.00000	1,030,000.00	1,003,113.00000	1,003,113.00
	SURFACE PREPARA ATING STRUCTUR )							
0028	MMB187M	1.000	130,000.00000	130,000.00	140,000.00000	140,000.00	123,460.29000	123,460.29
	SURFACE PREPARA ATING STRUCTUR							
0029	MMB187M	1.000	130,000.00000	130,000.00	140,000.00000	140,000.00	141,572.04000	141,572.04
	SURFACE PREPARA ATING STRUCTUR I							



Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

	lo / Item ID Description		(1) ANKA PAIN	ITING CO INC	(2) ALLIED PAINTING INC		(3) .JUPITER PAINTING CONTRAC. CO. INC,	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Bridge				Cat Alt Set: Cat A			It Member:	
0030	MMB090M	1,500.000	3.50000	5,250.00	10.00000	15,000.00	25.00000	37,500.00
DECK JO ASPHAL	DINT RESEAL (RUBB .T)	ER LF						
0031	MMB087M	1,200.000	6.50000	7,800.00	30.00000	36,000.00	66.00000	79,200.00
DECK JO	DINT RESEAL (SILICO	ON) LF						
0032	MMB089M	800.000	20.00000	16,000.00	50.00000	40,000.00	175.00000	140,000.00
DECK JO	DINT REPAIR	LF						
0033	555003M	1,000.000	50.00000	50,000.00	10.00000	10,000.00	132.00000	132,000.00
SUBSTR REPAIR	RUCTURE CONCRET	E SF						
0034	MMB067M	2,000.000	15.00000	30,000.00	10.00000	20,000.00	21.00000	42,000.00
STRUCT	URAL STEEL REPAI	R LB						

Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

Contract Description: Maintenance Bridge Painting Contract 2013-3

	Line No / Item ID Item Description			(1) ANKA PAIN	NTING CO INC	(2) ALLIED PAINTING INC		(3) .JUPITER PAINTING CONTRAC. CO. INC,	
Alt Se	t / Alt Member	Quantity and	d Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Bridge					Cat Alt	It Set: Cat Alt Member:			
0035	518015P		(1)	25,000.00000	25,000.00	65,000.00000	65,000.00	17,000.00000	17,000.00
SPAN BA 1321-150	ALANCE STRUCT )	URE NO.	LS						
Secti	on Totals:				\$2,749,050.00		\$3,841,000.00		\$4,381,509.75
	С	ontract Totals			\$3,227,000.00		\$4,548,951.00		\$4,928,427.00
	Cost Plus Time Totals				\$3,227,000.00		\$4,548,951.00		4,928,427.00

() indicates item is bid as Lump Sum



Contract ID: 12433 Counties: MONMOUTH, OCEAN

**Letting Date:** March 28, 2013 **District(s):** H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

Line No / Item Item Descripti			(4) IRON I CONSTRUC		(5) ATSALIS BROTHERS PAINTING CO			
Alt Set / Alt Me	ember Qua	intity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION:</b> 0001 Roadway		Roadway		Cat Alt Set:		Cat A	It Member:	
0001 15300	13P	(1)	3,000.00000	3,000.00	15,000.00000	15,000.00		
PROGRESS SCH	HEDULE	LS						
0002 15100	06M	1.000	30,000.00000	30,000.00	9,000.00000	9,000.00		
PERFORMANCE PAYMENT BOND	-	DOLL						
0003 15400	3P	(1)	200,000.00000	200,000.00	380,000.00000	380,000.00		
MOBILIZATION		LS						
0004 15900	3M	50.000	40.00000	2,000.00	98.50000	4,925.00		
BREAKAWAY BA	ARRICADE	U						
0005 15900	9M	100.000	12.00000	1,200.00	15.95000	1,595.00		
TRAFFIC CONE		U						

**Page:** 12



Tabulation of Bids

Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

Line No / Item ID Item Description		(4) IRON CONSTRUCT		(5) ATSALIS BROTHERS PAINTING CO			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0006 159006M	100.000	15.00000	1,500.00	49.50000	4,950.00		
DRUM	U						
0007 MMB085M	4.000	1,000.00000	4,000.00	6,000.00000	24,000.00		
FLOODLIGHTS FOR NIGH OPERATION	ITTIME U						
0008 159012M	1,000.000	4.75000	4,750.00	9.50000	9,500.00		
CONSTRUCTION SIGNS	SF						
0009 159029M	2.000	2,500.00000	5,000.00	15,000.00000	30,000.00		
PORTABLE VARIABLE ME SIGN W/REMOTE COMMUNICATION	SSAGE U						
0010 159027M	2.000	500.00000	1,000.00	3,000.00000	6,000.00		
FLASHING ARROW BOAR	D, 4' X 8' U						



Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

	o / Item ID escription		(4) IRON CONSTRUC		(5) ATSALIS PAINTII			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0011	159108M	2.000	2,000.00000	4,000.00	25,000.00000	50,000.00		
	CONTROL TRUCK							
0012	554012P	(1)	10,000.00000	10,000.00	10,000.00000	10,000.00		
TESTING DIRECTE	i, IF AND WHERE ED	LS						
0013	MMB130M	(1)	65,000.00000	65,000.00	60,000.00000	60,000.00		
QUALITY (QMS)	MANAGEMENT SY	STEM LS						
0014	152004P	1.000	20,000.00000	20,000.00	15,000.00000	15,000.00		
	S AND CONTRACTO TIVE LIABILITY NCE	PR'S DOLL						



Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

Contract Description: Maintenance Bridge Painting Contract 2013-3

Line No / Item ID Item Description		(4) IRON I CONSTRUCT		(5) ATSALIS PAINTII			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0015 152015P	1.000	20,000.00000	20,000.00	15,000.00000	15,000.00		
POLLUTION LIABILITY INSU	RANCE DOLL						

**Section Totals:** \$371,450.00 \$634,970.00



Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

	ract Description.	Maintenance bridge	' anting Contrac	2010 0				
	No / Item ID Description		(4) IRON CONSTRUC		(5) ATSALIS PAINTII			
Alt Se	et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0002	Construction E	ngineering	Cat Alt	Set:	Cat A	It Member:	
0016	155009M	1.000	5,000.00000	5,000.00	18,000.00000	18,000.00		
FIELD C	FFICE TYPE C SET	TUP U						
0017	155027M	24.000	2,000.00000	48,000.00	900.00000	21,600.00		
FIELD C	PFFICE TYPE C NANCE	MO						
Sect	ion Totals:			\$53,000.00		\$39,600.00		



Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

Line No /			(4) IRON CONSTRUC		(5) ATSALIS PAINTII			
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0003	Bridge		Cat Alt	Set:	Cat A	It Member:	
0018	MMB187M	1.000	455,000.00000	455,000.00	780,000.00000	780,000.00		
	RFACE PREPARA ING STRUCTURE	-						
0019	MMB187M	1.000	455,000.00000	455,000.00	462,300.00000	462,300.00		
	RFACE PREPARA ING STRUCTURE							
0020	MMB187M	1.000	320,000.00000	320,000.00	553,320.00000	553,320.00		
	RFACE PREPARA ING STRUCTURE							
0021	MMB187M	1.000	350,000.00000	350,000.00	412,100.00000	412,100.00		
	RFACE PREPARA ING STRUCTURE							



Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

Line No / Item Des			(4) IRON CONSTRUC		(5) ATSALIS PAINTII			
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	: 0003	Bridge		Cat Alt	Set:	Cat A	It Member:	
0022 I	MMB187M	1.000	350,000.00000	350,000.00	412,100.00000	412,100.00		
	RFACE PREPARA ING STRUCTURE	-						
0023	MMB187M	1.000	200,000.00000	200,000.00	114,000.00000	114,000.00		
	RFACE PREPARA ING STRUCTURE	-						
0024 I	MMB187M	1.000	450,000.00000	450,000.00	575,000.00000	575,000.00		
	RFACE PREPARA ING STRUCTURE							
0025	MMB187M	1.000	450,000.00000	450,000.00	575,000.00000	575,000.00		
	RFACE PREPARA ING STRUCTURE							



Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

	/ Item ID scription		(4) IRON CONSTRUC		(5) ATSALIS PAINTI			
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>1</b> : 0003	Bridge		Cat Al	t Set:	Cat A	It Member:	
0026	MMB187M	1.000	350,000.00000	350,000.00	178,360.00000	178,360.00		
	JRFACE PREPARA TING STRUCTURI							
0027	MMB187M	1.000	575,000.00000	575,000.00	2,833,000.00000	2,833,000.00		
	JRFACE PREPARA TING STRUCTURI							
0028	MMB187M	1.000	450,000.00000	450,000.00	233,220.00000	233,220.00		
	JRFACE PREPARA TING STRUCTURI	-						
0029	MMB187M	1.000	403,000.00000	403,000.00	566,280.00000	566,280.00		
	JRFACE PREPARA TING STRUCTURE	-						



Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

Alt Set / Alt Member         Quantity and Units         Unit Price         Ext Amount         Unit Price         Ext Amount         Unit Price         Ext Amount           SECTION:         0003         Bridge         Cat Alt Set:         Cat Alt Member:           0030         MMB090M         1,500.000         50.00000         75,000.00         7.75000         11,625.00           DECK JOINT RESEAL (RUBBER ASPHALT)         LF         LF         66.00000         79,200.00           DECK JOINT RESEAL (SILICON)         LF         LF         176.00000         140,800.00           DECK JOINT REPAIR         LF         LF         132.00000         132,000.00           SUBSTRUCTURE CONCRETE         SF         SF         REPAIR         REPAIR         REPAIR	Line No / Item ID Item Description		(4) IRON BRIDGE CONSTRUCTORS, INC.		(5) ATSALIS BROTHERS PAINTING CO				
0030 MMB090M 1,500.000 50.00000 75,000.00 7.75000 11,625.00  DECK JOINT RESEAL (RUBBER LF ASPHALT)  0031 MMB087M 1,200.000 50.00000 60,000.00 66.00000 79,200.00  DECK JOINT RESEAL (SILICON) LF  0032 MMB089M 800.000 100.00000 80,000.00 176.00000 140,800.00  DECK JOINT REPAIR LF  0033 555003M 1,000.000 80.00000 80,000.00 132.00000 132,000.00  SUBSTRUCTURE CONCRETE SF	Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
DECK JOINT RESEAL (RUBBER ASPHALT)       LF         0031 MMB087M       1,200.000       50.00000       60,000.00       79,200.00         DECK JOINT RESEAL (SILICON)       LF         0032 MMB089M       800.000       100.00000       80,000.00       176.00000       140,800.00         DECK JOINT REPAIR       LF         0033 555003M       1,000.000       80.00000       80,000.00       132.00000       132,000.00         SUBSTRUCTURE CONCRETE       SF	SECTIO	<b>N</b> : 0003	Bridge		Cat Alt	Set:	Cat A	It Member:	
ASPHALT)  0031 MMB087M 1,200.000 50.00000 60,000.00 66.00000 79,200.00  DECK JOINT RESEAL (SILICON) LF  0032 MMB089M 800.000 100.00000 80,000.00 176.00000 140,800.00  DECK JOINT REPAIR LF  0033 555003M 1,000.000 80.00000 80,000.00 132.00000 132,000.00  SUBSTRUCTURE CONCRETE SF	0030	MMB090M	1,500.000	50.00000	75,000.00	7.75000	11,625.00		
DECK JOINT RESEAL (SILICON)         LF           0032         MMB089M         800.000         100.00000         80,000.00         176.00000         140,800.00           DECK JOINT REPAIR         LF  <		•	ER LF						
0032         MMB089M         800.000         100.00000         80,000.00         176.00000         140,800.00           DECK JOINT REPAIR         LF         LF         0033         555003M         1,000.000         80.00000         80,000.00         132.00000         132,000.00           SUBSTRUCTURE CONCRETE         SF         SF         100.0000 <td>0031</td> <td>MMB087M</td> <td>1,200.000</td> <td>50.00000</td> <td>60,000.00</td> <td>66.00000</td> <td>79,200.00</td> <td></td> <td></td>	0031	MMB087M	1,200.000	50.00000	60,000.00	66.00000	79,200.00		
DECK JOINT REPAIR LF  0033 555003M 1,000.000 80.00000 132.00000 132,000.00  SUBSTRUCTURE CONCRETE SF	DECK JC	OINT RESEAL (SILICO	ON) LF						
0033 555003M 1,000.000 80.00000 80,000.00 132.00000 132,000.00 SUBSTRUCTURE CONCRETE SF	0032	MMB089M	800.000	100.00000	80,000.00	176.00000	140,800.00		
SUBSTRUCTURE CONCRETE SF	DECK JC	OINT REPAIR	LF						
	0033	555003M	1,000.000	80.00000	80,000.00	132.00000	132,000.00		
	SUBSTR REPAIR	UCTURE CONCRETE	SF SF						
0034 MMB067M 2,000.000 15.00000 30,000.00 14.50000 29,000.00	0034	MMB067M	2,000.000	15.00000	30,000.00	14.50000	29,000.00		
STRUCTURAL STEEL REPAIR LB	STRUCT	URAL STEEL REPAIF	R LB						



Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 10/30/14 COMPLETION DATE

Contract Description: Maintenance Bridge Painting Contract 2013-3

Line No / Item ID Item Description		(4) IRON BRIDGE CONSTRUCTORS, INC.		(5) ATSALIS BROTHERS PAINTING CO			
Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Bridge			Cat Alt	Set: Cat Al		It Member:	
0035 518015P	(1)	75,000.00000	75,000.00	52,100.00000	52,100.00		
SPAN BALANCE STRUCTURE NO. LS 1321-150							
Section Totals:			\$5,208,000.00		\$8,139,405.00		
Contract Totals			\$5,632,450.00		\$8,813,975.00		
Cost Plus Time Totals		\$5,632,450.00		\$8,813,975.00			

() indicates item is bid as Lump Sum

Vendor Ranking

Page: 1

Call Order: 433 Contract ID: 12433 Counties: MONMOUTH, OCEAN

Letting Date: March 28, 2013 10:00AM District(s): H4

Contract Time: 10/30/14 COMPLETION DATE

Contract Description: Maintenance Bridge Painting Contract 2013-3 Project(s): STATE

Rank	Vendo	r ID/Name	Total Bid	Percent Of Low Bid
1	A5950	ANKA PAINTING CO INC	\$3,227,000.00	100.00%
2	A5457	ALLIED PAINTING INC	\$4,548,951.00	140.97%
3	J9320	JUPITER PAINTING CONTRAC. CO. INC,	\$4,928,427.00	152.72%
4	17117	IRON BRIDGE CONSTRUCTORS, INC.	\$5,632,450.00	174.54%
5	A8360	ATSALIS BROTHERS PAINTING CO	\$8,813,975.00	273.13%
	C6566	CORCON INC	Irregular	
	H2678	HERCULES PAINTING CO INC	Irregular	

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,